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The pH for the solution of salt hydrolysis of NH4ClI islgiven by
1

* pH=7 (pKu-pKi-logC) 2 pH== (pK.+pKi+logC)
3 2

c pH== (pKa+ pKu-pKa) d. None of the above

The solubility product expression for Sn(OH)2 1s

a. [Sn2*][OH] b. [Sn2]2[OH]

¢ [Snz][OI1]2 d. [Sn2‘][20H-)?
The surface tension of a liquid vanishes roughly __ above the critical temperature
(fill in the blank)

a. 4°C DINEHE

(e d75E

n and ¢ are the viscocity and fluidity of a liquid respectively then
a. n=1/¢ b. n=1/¢2

€ n=¢2 ; d. n=1/2¢

A crystal having unit cell dimensionsa#b#c,a=p=y=90"is
a. cubic b. tetragonal

¢. orthorhombic d. hexagonal

The total number of space groups in a crystal is

AL b. 14

c. 32 d. 230

Relationship between orientational order of solids, liquids and liquid cryslals is
a. solid > liquid > liquid crystal b. solid > liquid crystal > liquid

¢ liquid > liquid crystal > solid d. solid < liquid crystal < liquid

The Bovle’s law stales that

a. the volume of a gas is inversely proportional to the pressure of a gas at a constant
temperalure

b. The volume of a gas is directly proportional to the temperature at constant
pressure

¢. None of the above

d. Both are correct

According to kinetic theory of gases, the energy per mole of a gases is equal to

a. RT b. 1.5RT

¢. 0.5RT d. Cannot defined

Kinetic energy of a gad depend upon its

a. Molecular mass b. Atomic mass

¢. Equivalent Mass d. None of the above

Which of the following statement is true regarding gases?

a. pases are highly incompressible b. gases exerl equal pressure on each
and every direction

¢. ils volume and shape is fixed d. gases have the highest density among

the 3 States of matter
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20. Foranldealﬂa alue of ¢¢ bility factor, Z is equal to
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2+242+2
=8

2+24+3=7




